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11.

Instructions for Candidates :
1.

Use Black Ballpoint Pen only for writing particulars of
this Question Booklet and marking responses on the
OMR Answer Sheet.

This test is of 2 hours and 30 minutes duration and
consists of 150 MCQ-type questions.

There is no negative marking for any wrong answer.
This Question Booklet has Six Parts—I, II, III, IV, V and
VI, consisting of 150 MCQ-type questions and each
question carries 1 mark :

Part-I :Child Development and Pedagogy (Q. Nos. 1-30)

Part-II :Language-1 (English) (Q. Nos. 31-60)
Part-III: Language-II (Bengali) (Q. Nos. 61-90)
Part-1V: Language-II (Kokborok) (Q. Nos. 61-90)

Part-V :Mathematics and Science (Q. Nos. 91-150)
Part-VI:Social Studies (Q. Nos. 91-150)
Candidates have to do Question Nos. 61 to 90 EITHER
from Part-III (Bengali) OR from Part-IV (Kokborok).
Candidates have to do Question Nos. 91 to 150 EITHER
from Part-V (Mathematics and Science) OR from Part-VI
(Social Studies).

Please ensure that Question Booklet Series-Code is
correctly written and shaded on the OMR Answer Sheet.
Rough work should be done only in the space provided in
the Question Booklet.

The answers are to be marked on the OMR Answer Sheet
only. Mark your responses carefully since there is no
chance of alteration/correction.

Use of eraser or whitener is strictly prohibited.
Candidates should note that each question in Parts—I, V
and VI is given in bilingual form (English and Bengali). In
case of any discrepancy or confusion in the
medium/version, the English version will be treated as
the authentic version.
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PART—I / wis—I
CHILD DEVELOPMENT AND PEDAGOGY |/ fre faamt @ frseteat

Directions : Answer the following questions by | fcafier : 50F Teg fafsa s fa amafm Teq

selecting the correct option. s |
1. The word Maturation was first used in 1. ‘Maturation’ *™f5 22 fre ICNmE 429
child psychology by EY&O|
(A) William McDougall (A) Tefermy TIFLoIE
(B) J. B. Watson (B) . . exH
(C) A. Gesell (C) Q. o™

(D) None of them

. He was the first who tried to divide

human development in different stages.
(A) Rousseau

(B) Plato

(C) Aristotle

(D) None of them

. Children think that everything around
them, including toys, are alive. This
mental characteristic of children is called

(A) existentialism
(B) determinism
(C) animism

(D) None of the above

. Environment, and not the heredity, is
important for human development. The
supporter of this view is

(A) Darwin
(B) Watson
(C) Galton

(D) None of them

RL19/APR-II/A

(D) SR (FY3 T

. NRERER [erce [fen w@ [emer gaw

ATHS FCI

(A)

(D) 47 (FT3 T

. e T IEE (A F B SRR

TRFRCFE. ARE T ¢ | Ry 3 AP
SIRE SR

(A) wIRFgam
(B) frafeam
(C) Heer@m
(D) TURR (PR T

. G ReeRm s Il T, AR

FFgYl | G2 TSI LS 20T
(A) TR
(B) GBI
(C) =TT

(D) 47 (FT3 I


http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

5.

7.

This is not a principle of development.
(A) Development is continuous

(B) Development is consistent

(C) Development is lifelong

(D) None of the above

The world appears as a spaceless,
timeless, objectless unit to the child in
the period of

(A) sensory motor thinking

(B) intuitive thought

(C) concrete operation

(D) None of the above

According to ,
development, cognitive conflict and role

cognitive

taking ability are three elements of moral
development.

(A) Kohlberg
(B) Piaget
(C) Havighurst

(D) None of them

Stage of heteronomous morality and
stage of individualism morality are part of

(A) conventional morality
(B) post-conventional morality
(C) pre-conventional morality

(D) None of the above

RL19/APR-II/A
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10.

11.

12.

13.

assumes that

Vygotsky
development

cognitive

(A) is universal across culture
(B) varies across culture
(C) is not influenced by the environment

(D) None of the above

In language development, CDS stands for
(A) child-directed speech

(B) conversation-directed speech

(C) communication-directed speech

(D) None of the above

Which of the following is an example of
intellectual disability?

(A) Dyslexia
(B) ADHD
(C) Autistic spectrum disorder

(D) None of the above

In learning disabilities, the name for
mathematical disorder is

(A) dyspraxia
(B) dyslexia
(C) dysphasia

(D) None of the above

If a child has mental age of 5 years and
chronological age of 4 years, then what
will be the IQ of the child?

(A) 100
(B) 125
(C) 130

(D) None of the above

RL19/APR-II/A
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14. Which one is not an important factor of

15.

16.

17.

creativity?

(A) Originality
(B) Fluency
(C) Flexibility

(D) None of the above

When an individual with multiple

cognitive disabilities has extraordinary
proficiency in one isolated skill, this is
known as

(A) Asperger ability

(B) Rain Man syndrome

(C) Savant syndrome

(D) None of the above

‘Three-ring conception’ of giftedness was
proposed by

(A) Jean Piaget
(B) Joseph Renzulli
(C) E. L. Thorndike

(D) None of them

Differentiated Model of Giftedness and
Talent (DMGT) was propounded by

(A) Francoys Gagne
(B) Sternberg
(C) Terman

(D) None of them

RL19/APR-II/A
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18.

19.

20.

21.

Which of the following procedures can be

used to identify Down Syndrome

prenatally?

(A) Amnioprolaxis
(B) Amniocentesis
(C) Amniophalaxi

(D) None of the above

This is not a method of identifying gifted
children.

(A) Classroom observation
(B) Achievement tests
(C) IQ test

(D) None of the above

Who first coined the term 1Q?
(A) Stern

(B) Sternberg

(C) Roger

(D) None of them

For developing good habits and

elimination of bad habits in the learners,
this theory can be helpful.

(A) Sternberg’s information processing
(B) Atkinson-Shiffrin model

(C) Pavlov’s classical conditioning

(D) None of the above

RL19/APR-II/A
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22.

23.

24.

25.

Teacher should represent the learning
material in such a way that it will bring
the This
assumption is based upon the

satisfaction to learner.

(A) law of effect
(B) law of readiness
(C) law of exercise

(D) None of the above

OCEAN theory is a

(A) theory of perception
(B) theory of personality
(C) theory of intelligence

(D) None of the above

A child scolded by his teacher may hit his
peers. This is an example of

(A) regression
(B) phantasy
(C) rationalization

(D) None of the above

Each
question,

the
the
question and praise are examples of

time student answers a

teacher praises. Here

(A) motivation and emotion
(B) cognition and motivation
(C) the operant and the reinforcer

(D) None of the above
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26.

27.

28.

29.

30.

This is not a technique of memory.
(A) Peg system

(B) Major system

(C) Method of Loci

(D) None of the above

16 PF test is based on
(A) Eysenck’s theory
(B) Cattell’s theory

(C) Allport’s theory

(D) None of the above

Action regulation theory of motivation
was proposed by

(A) Winfried Hacker
(B) Ben Franklin
(C) Clayton Alderfer

(D) None of them

Who told about the general and specific
factor of intelligence?

(A) Cattell
(B) Spearman
(C) Thorndike

(D) None of them

“Learner learns from his own mistakes.”
This
learning theory?

statement is based on which

(A) Instrumental conditioning
(B) Insightful learning
(C) Trial and error theory

(D) None of the above
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FRESHERS NOW

PART—II / wi9—II
LANGUAGE—I / S ¥I—I
ENGLISH / 23§

Directions Read the following passage
carefully and answer the questions (Q. Nos.

31-35) by choosing the correct option for each.

It is, of course, impossible to characterize a
language in one formula; languages, like men,
are too composite to have their whole essence
short
is one expression that

summed up in

there
continually comes to my mind whenever I think
of the English language and compare it with
others : it seems to me positively and expressly

one expression.

Nevertheless,

masculine, it is the language of a grown-up
man and has very little childish or feminine
about it. A great many things go together to
produce and to confirm that impression, things
phonetical, grammatical, and lexical, words and
turns that are found, and words and turns that
are not found, in the language. In dealing with
the English language, one is often reminded of
the characteristic English handwriting; just as
an English lady will nearly always write in a
manner that in any other country would only be
found in a man’s hand, in the same manner the
language is more manly than any other
language I know.

31. According to the author of the above
passage, a language is

(A) simple enough to be described in one
word

(B) of a complex nature and therefore,
cannot be described in one short
expression

(C) an impossible phenomenon to be
described in words

(D) None of the above

RL19/APR-II/A

32.

33.

34.

35.

The that
meaning to the word ‘lexical’ is

expression bears similar

(A) of the words
(B) of the structures
(C) of the sounds

(D) None of the above

In which context does the author find
similarity between men and languages?

(A) That both are straightforward

(B) That both have multi-dimensional
features

(C) That both grow very fast

(D) None of the above

The word similar in meaning to
‘continually’ is

(A) incessantly

(B) ceaselessly

(C) Both (A) and (B)

(D) None of the above

According to the author

(A) an English
language like a foreign man

lady masters any

(B) an English lady’s handwriting is
mostly similar to that of a foreign
man

(C) an English lady is masculine in
nature

(D) None of the above

[ P.T.O.
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Directions : Read the following poem carefully
and answer the questions (Q. Nos. 36-40) by
choosing the correct option for each.

Today the world is a little more my own.
No need to remember the pain

A blue-frocked woman caused, throwing
Words at me like pots and pans, to drain
That honey-coloured day of peace.

“Why don’t you join the others, what

A peculiar child you are”!

On the lawn, in clusters, sat my school-
mates sipping

Sugarcane, they turned and laughed,;

Children are funny things, they laugh

In mirth at others’ tears. I buried

My face in the sun-warmed hedge

And smelt the flowers and the pain.

The words are muffled now, the laughing
Faces only a blur. The years have

Sped along, stopping briefly

At beloved halts and moving

Sadly on. My mind has found

An adult peace. No need to remember
That picnic day when I lay hidden

By a hedge, watching the steel-white sun
Standing lonely in the sky.

36. The above poem gives us the impression
that the speaker in it was

(A) a reclusive child
(B) a sociable child
(C) a talkative child

(D) None of the above

37. The speaker used to be scolded by
(A) her schoolmates

(B) the gatekeeper

(C) her teachers

(D) None of the above

RL19/APR-II/A
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38. The word nearest in meaning to ‘muffled’
is

(A) deleted

(B) stifled

(C) forgotten

(D) None of the above

39. Which of the following words can be

taken as the antonym of the word
‘mirth’?

(A) Sorrow

(B) Joy

(C) Laugh

(D) None of the above

40. The speaker of the poem wants to

(A) remember the memories of her early

school days as they were happy

forget the memories of her early
school days as they were painful

forget her teachers but wants to
remember her schoolmates

(D) None of the above
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Directions

: Answer the following questions

(Q. Nos. 41-60) by selecting the correct option
for each.

41.

42.

43.

RL19/APR-II/A

Too Mathematics usually

taught in schools.

To fill in the blank spaces in the above
sentence, the appropriate words are

(A) much, is
(B) many, is
(C) much, are

(D) None of the above

His village is over the border.

Here the preposition ‘over’ can be

replaced without any change in meaning
by

(A) on

(B) in

(C) across

(D) None of the above

The phone rang while I dinner.

Here the appropriate verb form would be
(A) was having

(B) had

(C) have

(D) None of the above

11

44.

45.

46.

47.

FRESHERS NOW

Those were the days when teachers used
to know each of their students by name.

In the above sentence, the number of
determiners present is

A) 3

(D) None of the above

The jury divided in their opinion.

The appropriate verb form to fill in the
above blank space would be

(A) was
(B) has been
(C) were

(D) None of the above

If “ing’ is added to the word 1ie’, it would
appear as

(A) lieing
(B) laying
(€) lying

(D) None of the above

In the words ‘apolitical’ and ‘ashore’, the
prefix ‘a-’

(A) brings change in the grammatical
category of both the words ‘political’
and ‘shore’

(B) brings change in the grammatical
category of the word ‘political’ only

(C) brings change in the grammatical
category of the word ‘shore’ only

(D) None of the above

[ P.T.O.
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48.

49.

50.

51.

The word nearest in meaning to
‘aspiration’ can be

(A) ambition

(B) breathing

(C) painkiller

(D) None of the above

The word lack’ can find its synonym in

(A) unfulfilled
(B) scaring
(C) paucity

(D) None of the above

The word ‘apiary’ means

(A) large enclosure or cage for keeping
birds

(B) place where bees are kept
(C) one who has appeared

(D) None of the above

Memorizing antonyms/synonyms and

reading passage for identification of parts
of speech can be associated with

(A) the direct method

(B) the grammar-translation method

(C) the audio-lingual method

(D) None of the above

RL19/APR-II/A
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52.

53.

54.
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The direct method of teaching language
intends that

(A) students should
communicate in the target language

learn how to

students should acquire enough

theoretical and grammatical

knowledge of the target language

should the
communicative usages of the target

students overlearn

language so that they can overcome
the barriers of their native language

(D) None of the above

The purpose of language learning is
(A) only to communicate
only to understand
only to think

(D) All of the above

The full form of CALL is

(A) Cognitive Achievers’ Language Lab

(B) Computer-Assisted Language Learning

(C) Comprehensive Achievers’ Language
Learning

(D) None of the above
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55.

56.

57.

Electronic Text Corpus means

(A) a social networking site

(B) a blog

(C) a collection of authentic spoken and
written texts of millions of words

(D) None of the above

Pairs of words which differ in only one
sound, e.g., ‘ship’ and ‘sheep’, are called
(A) cognitive pairs
(B) maximum pairs
©)

minimal pairs

None of the above

The sound /w/ in ‘world’ is an example of

(A) bilabial plosive

(B) semi-vowel

(C) back vowel

(D) None of the above

RL19/APR-II/A
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58.

59.

60.
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An example of English fricative sound is

(A) /b/

(B) /h/

©) /z/

(D) None of the above

The word ‘comprehensive’ would be

stressed on the

(A) first syllable

(B) second syllable

(C) third syllable

(D) fourth syllable

Don’t make a noise.

If the above sentence is to be uttered as a
command, it would be said

(A) with a falling tone
with a rising tone

with a rising-falling tone

None of the above

[ P.T.O.


http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

Candidates have to answer Question Nos.
61 to 90 Either from Part—III (Bengali) Or
from Part—IV (Kokborok).

TG 2 MR 61 (AF 90-97 Teq IO
3 R Ola—III (J1€ETT) (ACE FA] So—IV (FIFIEF)
(AT |

PART—III

[ ©1—III

LANGUAGE—II / S¥—II
BENGALI / iz

Aot : fEfife s “Ice 6172 (A 66712
23 Teq s |

GBI T SIPREICR, T4 SINICE TS GPb T[JRS
FO TS 22 TRE | TR IO, T4 2O
I S G5 TR—IA 7 22018 ST (F2 Ol
IS A 1, @R FreRcse o o5 FHCS A1
ol

R A, WCET Ao Afe dop we uE
*fREIers iy FOCR T oo A | ORI, AT
sjc2 a2 el 2t aefed e @2 Fom TwcEd
Gl 17 SWR g2 AR W Pl Al | BB JAEICA
RofFTe 230e WO qBC 1 | SR e CTRITS
We qCTl q0el Wo-Nwg verece, @ (e oW
B[ ST SIREZI Sw{fel ool FlC 1 | oS
L I, G, FCF, ROR (7 CTrSI901eTS FRCT OL
FOES| FYCIZ DS AP A1 17

61. SINICHE FC™I NS (I 2C3 I ¢ ASTPI
1 20 2

(A) SOIRCH 33 TCq
(B) c¥d =@ TIcq
(C) g2 =@ ToF
(D) TocEa e T

I (T ICT! 0Tl II-NHE BT el
1o I

(A) 2 e

(B) CHRMIGT

(C) 92w e

(D) Toca (@i T

62.

RL19/APR-II/A

‘TeffeR’ *RA6d AR 2@

(A) = e[

63.

(B) 1% 2(T O™
(©) =i TeR
(D) To[caa (T T

(A) 2% + @F
B) 2fs + 3
(C) #fS + &
(D) TPiEd (A T

64.

65. ‘Oys’ Wby ooy W =@
(A) c=l
(B) e
(C) carm

(D) IR @A T

66. “FUONFS N Oya FEce AR AN

@fEs mhy Fe ¢ [efe 7o
A) FgFRCE ‘@ Refe

(B) ¥R ‘& [efe

(C) wiiae IR ‘@ [efe
(D) e (bR 7T
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facair : fafee e sfem Js Teaft Fdma s
67 712 (ACF 90 72 2CHT Teq Wie |

67.

68.

69.

70.

FrEaPT &1 TEEL S ST
(A) SIR@rF =em

(B) “m=-faef =em

(C) Fqe =W

(D) Tricaa (e

gl e SRR sfAe b TR

BCBIILIICAS

(A) ‘FTIFICIT 7SS 2ACE
(B) ‘ST’ Soemce
(C) Ty ot

(D) Toiaa (FFbe T

(A) Stba Mkl
(B) Staa Al
(C) S»s9© &

(D) TR (FFe

*A6T SCOIAIIICS S SICs el 2o
(A) 7

(B) frerarega

(C) foxm ;s

(D) T°7 (FFHe

RL19/APR-II/A
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71.

72.

73.

74.

TfelF ICANGIET AT T2 25

(A) “o[gerea Sfewar
(B) ‘Twa=ifas sr7°

(D) ¥ @i T

oMl @ T CHCT (ATl
e (=08 ol ¢l !
OEIGE |
Tare wiH(fbe Pl 20
(A) &S BTN
(B) SIEWMEI X

(C) SRR W

(D) T7Ea (FT3

S’ FROI-TRFEACE TR 2T
(A) FArmY I

(B) WP TS

(C) sl TN

(D) T (T3 o

[ P.T.O.
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75.

76. J1H sl (A ¢ Iz 929 e

77.

78.

‘TS’ AIER TP =T
(A) ST ]

(B) fehowae qcwmenam
(C) *R6% SCRI7NR

(D) TR (FUB

(A) T BY
(B) JoIgR Rmyeicspia

(C) PRI TE

(D) To[CE (PTB A

SRIF AR O AORS] ZCE
(A) Tacermete a/

(B) I ™

(C) SEmMES A

(D) TR (FTB

‘G2 fF 908 Terel 27— J YR A6F 2

(8) afe=re
(B) CTafas
(©) Hrefe

(D) T#i7a (e

RL19/APR-II/A
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79.

80.

81.

82. . FWAP > Il Pl RIS @l 2

‘FOR A ACHT T =
(4) “7FTE SEOR(

(B) e

(C) &= W

(D) ToEa (FTB

‘TPel A TR TORIST 2
(A) =Pl wdl

(B) & e

(C) @RI T

(D) T7[(AF (FT3 T

TG0 I TS AN 26
(A) =

(B) TN

(C) I

(D) ¥R @i T

(A) TCEIDA
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83.

84.

85.

86.

QTR /€AY —IC A1 ABCES TS
P SICR | B GHCTR NP A

(A) *FTtTe
(B) 1t
(C) &=

(D) Toicaa (e T

‘87, ‘R’ s =5
(A) O
(B) 9%7 *
(C) =T ¥

(D) T°7a e

TR 2 AT, A9

(A) 2759, TS

(B) F18, =8

(C) (Tfer, (Mo el

(D) T*[aa (FAe T

TG’ —a7 “MIEa FACET 20
(A) (B
(B) (N
(C) Bl

(D) T°ic7a (e

RL19/APR-II/A
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87. Topisf qme = @It
(A) s
(B) 7@
(C) @ (I =

(D) o @M T

88. w firws e fofe, R wamwa
(A) @RI =P e
(B) 7=, wfs € “gewe®
(C) e AT T

(D) w7 @i T

89. TERCT oy 2# PERAicS
(A) 4 =
(B) Teifee w1
(C) “IeICHIIE Bicel A1l

(D) @7 @i T

[ P.T.O.
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Candidates have to answer Question Nos. 61 | 2QFFIiwa 2 122 61 (A 90 Ted (@ 3@
to 90 Either from Part—III (Bengali) Or from |37 S5—III (IR (AF FIA SH—IV (FFIEF)
Part—IV (Kokborok). CAC= |

PART—IV / <i9—IV
LANGUAGE—II / ©¥I—II
KOKBOROK |/ $F39%

RS 2 TeTe e S N “ACE 61 M-F | 62. =P TR ARy O k2
FIfl 65 =12 &1 Negeaaie s fFasiiv |

(& FF A2 IS (GO Fifeenifer 355, AFTe

(A) =PI DIZ ARCY TS (FeT2 1R

PG OfF FBIN P 9 | 517 AR 2y’ (B) 318 FIaNG Nes]
TIToI FIRE S2 FI0IR T | TP199 inferior ,
Secy TP B AR | ZFY BINIR ALCY PG (TR (D) ST AT ey

AT | RIS (PC AR YOS | S
CARTETIRCE™ ZITRe TR B(3CH GICCAAD OO | 63, Brizel IR TIX O FECEE 98 2
TP MR- A FHD1 | 2] (@I q19T MR

e S, SRR wea T PRBICE - RS (A), 2B

BIECEY (B) == frear

e[ 2 O o1 #I2S1 “IRSIE | 2 Bl T@Te s e—
FRIR FI2L | ARE A9, GTE A6, S,

FREAI, Bl, Tl 2[CCI I AISTICS S84l Io789 | TPl (D) AR A2 T

e 1z 9T fReeel w18 wiz-1 e =N’
FETIo | TR 22 25 92 T ST OGE | | 64, Sapep wew wr2icy w31 S 2
23 DI iRAT SESTeTI<E ATl | SIpse Oel 29 - !

i T 2 2 iR B ag | = SR 7 ol (A) 2T FETRel BIbRIRATR

q T —2F iﬁ.iﬂﬂ@&xmwﬁ,—w (B) &« TR WS [ES ©fF S@l FroE
FIGIf W"fﬁﬁ@ﬁé, Fﬁ?ﬁi&l 4G SN2 TG AT ReifEmem SR

Tofe 259 | &1 Frore1l Ol 2w, ©es viye, e

qiewl FeRy TP HIOTAR - | F sl (C) ZRPISHT PG A4

JIEME AF(e AP OB TR PO I_E (D) TR T

qeAR—srwe’ SRIB- SREAl TFY ©B-7 HIRAFR

——

fZe7s Tfemreicy (a2 ©seE |

65. e’ - ISR FHAR IRAN
61. JIIF TEPIENE SN FIEF (93 FIoR FeTR 2

(A) TS
(&) R R W T
(B) Tl Frers re ©f3 oTiRgE Hife B) T
(C) eI Srexfz ree (C) Jen
(D) I A T (D) SRl <
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66. TIITF SIRYI
(A) FFAR TS FF
(B) “eqe qareid
(C) #q% (tone) FTTF FF

(D) I 02T

67. FRITP DI

O
FEIPNE 2Tz I 2

(A) FPIE
(B) 2w
(C) 2o

(D) TR AT 2130

68. TN WG el FHNFE NI

(frefe) <=2

(A) T

(B) ot el

(C) Tosan <erzarifer
(D) Il AR A

69. TIIT 1B TSP 2ol PAAR e
(A) PR
(B) <TSIeT =1
(C) weaR AR
(D) I <A

RL19/APR-II/A
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70. ‘TOE YA IR 1w ?
(A) TR
(B) ey
(C) FFeT

(D) TR A2 T

71. B s ‘SNwomae’ 59T TS
(A) TP e
(B) =Tl (Al
(C) Fref2 =orf

(D) AP A2 oA

72. “T@7[@1 -0 R R IFF S 2
(A) $>93/99 R [/
(B) svey/ee 3 [P
(C) sv88/8¢ 3 R

(D) TP AR T

73. ‘fFesiz iR o e 2
(A) Teg
(B) FIoETRIT TR FpeTa
(C) FATRS
(D) AR A T

[ P.T.O.
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74.

75.

76.

77.

‘PR TR 2efl g3 e e
(A) RerER raas

(B) T

(C) 7

(D) Sl AT I

‘2o T M qere [AbiRel’ SRe
(A) TP el

(B) FFORM e

(C) T A ey

(D) TR A2 T

T J FPeR [ ST
A) ARl r=a

(B) wforT craeli

(C) Freyemm crafi

(D) A AZA F A

‘Prerere-Frmeree’ e Tl
(A) TTm R

(B) Ff2 (resfl

(C) *IeTel (waasl

(D) ST=FIfe 22T e

RL19/APR-II/A

20

78. SRR AR
(A) 3 e
(B) “[egef e qe
(C) TR AR

(D) I A=A F=F

79. T TR MR
(A) eIl T
(B) TR Prier=E
(C) Te T TRER

(D) TR A2 T

80. Jerwifel S Pifefert | @ kel
(A) 2R FPIOR
(B) 2 TR
(C) Wi FFaTeR

(D) I A=A F=F

81. TS I Y8 FFAIFH
(A) TETFIES] (ETSy
(B) el (efrenal’
(C) T’ (e’

(D) TP A2 o
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82.

83.

84.

e’ (AemEsiR fS7 97 G WAl
() B St Ty

(B) B R Treemiz

(C) Br TR Treet2

(D) TR A A

gl I B T3 Fo141 | o [
3 wlegeal’ S 2

(A) SlESIaZ Sle2eTh
(B) SIEFIE OIEI[ETH
(C) TSP wlegETs

(D) T=FIfe 22T T

WS ESere RN WG OISR

ez’ AR e

(A) Yo T2 ErSferer aoREel’
(B) YWhe <2 Sferer vean
(C) Yfeq a2 TSl LRIME
(D) Tl 22T

85. eTF (AT FHIAF TSN RIS R

RL19/APR-II/A

(A) TS FIAE FIANGAI

(B) FFIIF T (2 T2 TSI
(C) CORBISMT ETN2ITl PG STATTIfel
(D) TR /M2 T

21

86.

87.

88.

89.

90.

T 9 Ao (FFel) AR LA TS B
el 2

(A) T 92 AR

(B) T8 AR [T

(C) e (=) T2 TS (for<m1)
(D) T 23T T2

JqS1e. FINeHE (BARA HEAIFF 2
(A) BT PR TN T2
(B) #PT FUN TR ez

(C) coreF T g5 e

(D) Ffer A2 T

T (Evaluation) 912

(A) Aol AfRTEm WM SR SINEEE
r2ensy’

(B) CBAl3RSl STRI(w  WFRR SR SN
BIECIOH

(C) FPT PHoI’ FIGACH SR S 2o’
(D) T 202 T

(oA R T Teedsl
(A) SOFE- FI ST G2
(B) & YpeArStR e’ pol’

(C) coxfEmalfel oe (w2 Jfm T2 qoiewS A
SIROIE]
(D) TR A2 T

FIqeqen2  (Lesson  plan)-f  g@breis i
EISaERIEER T

(A) Feifem, STege (w2 R

(B) [CIfel, FqMeqe (OB SAEATS
(C) “Ifee, STRE (o2 SNeas
(D) AR 2 T

[ P.T.O.
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FRESHERS NOW

Candidates have to answer Question Nos. 91

to 150 Either from Part—V (Mathematics and

Science) Or from Part—VI (Social Studies).

AIFFIE 2 AT 91 (AE 150 Ted IO A
7 oo—V (dfde @R @) (A weRd Se—VI
(TSR (ACF

PART—V [/ Sl9—V
MATHEMATICS AND SCIENCE / sifds @32 Ree

Directions : Answer the following questions by
selecting the correct option.

91. A rational number between 6 and 7 is
12

2

14

2

13

2

(D) None of the above

(A)
(B)

(€)

92. The total number of factors of the
number 36 is

(A) 8
B) 9
(C) 10
(D) None of the above
93. The sum of all even numbers between
1 and 55 is
(A) 756
(B) 728
(C) 702
(D) None of the above

94, % of 5 kg apples were used on Monday.
The next day % of left was used. The
weight (in kg) of the apples left now is

2
(A) -

1
(B) 1a

2
©) 3

(D) None of the above

faciPie « 0% Teg fafon g e apesfem Teg
e |

91. 6 &R 7-47 W GF AW FRYT| T
12

2

14

2

13

2

(D) Toicaa (@b T

92. 36 MBI (B TLAMCFT AN Z&
A) 8

B) 9
C) 10

D) TR (@R T

93. 1 R 55-9F YRS M IW RIYNBEN
CUI9Fe] 2¢F

(A)
(B)

©)

(
(
(
(

94. 5 %CQWWW%W?‘T@WWW

Wlwﬁ@wm%wwm%

JREE A 2ARS | O SAME SR
s (Feamene) 2@

(&)

NN

(B)

1
14
2
C) =
© 3

(D) Toicaa (@b T

RL19/APR-II/A 22
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95.

96.

97.

98.

99.

100.

If2a—-2=3 then — % _»
a a“—-a-1

(A) S

(B) 6

€ 7

(D) None of the above

If£= a+?2

y a-2
2a

a’ +2
4a

a’ +4

(S
(D)

2 2
,thenu=?
X +y2

(A)

(B)

None of the above

One of the factors of a? —4a—-12 is
(A) a-6

B) a+6

(C) a-3

(D) None of the above

If 47% = %, then the value of 4)3* is

(A) 9
B) 18
(C) 27
(D) None of the above

If a+b=3, then the

a® +9ab +b° is

(A) 9

(B) 18

€ 0

(D) None of the above

value

1 1 1
If xP=y?2 =zr and xyz=1, then the

value of p+qg+r is

(A) O

(B) 1

(€) par

(D) None of the above

RL19/APR-II/A
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95.

96.

97.

98.

99.

100.

FRESHERS NOW

2a
a? +2
_da
a? +4
€ 1
(D) I @A T

a? —4a-12-49 436 Teoms 2o

(A)

(B)

gow
%O

g e
p+qg+r-93 9 2q

(A) O

(B) 1
(C) pgr
(D) ToiER (@ T

aR xyz=1 =,

[ P.T.O.
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101.

102.

103.

104.

105.

RL19/APR-II/A

The value of \/3+2«/§ —\/3—2x/§ is

A) 2V2

(B) 2

(C) O

(D) None of the above

_¥3+1
J3-1

value of (x3 + y3) is

If x and y=-"~-—

(A) 64
(B) 32
(C) 76

(D) None of the above

If 15 men can make a wall in 48 hours,
how many men will make it in 30 hours?

(A) 20

(B) 40

(C) 24

(D) None of the above

If @2x+3y:(3x+5y =18:29, then x:y
is equal to

A) 3:4

B) 4:5

) 1:2

(D) None of the above

If each side of a square is increased by
10%, then what percentage of its area
will be increased?

A) 11%
(B) 20%
(C) 21%

(D) None of the above

24

101.

102.

103.

104.

105.

FRESHERS NOW

J3+242 —/3-242-99 T [

(A) 242

(B) 2

€ o

(D) a7 @Fie T

Rt x:gti UE yzg;i o7y, I
(x3 + ys)-élﬁ RICE|

(A) 64

(B) 32

(C) 76

(D) TEa @FRE T

I 15 & @TF 48 YGR GG (SIS Cwdl
FACS A, @ TG (@ & (WS
30 G (O FACS A ?

(A) 20

(D) ¥*IEa @Fie T

It (2x+3y): (3x+5y) = 18:29
x:y3d

7, ©@
A) 3:4

B) 4:5

© 1:2

(D) A @A T

I Isfcwean 2fels qrea ol 10% JIfa 41
20e (HAFE O IO I A ?

A) 11%
(B) 20%
(C) 21%
(D) ToIER (@ T
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106.

107.

108.

109.

110.

RL19/APR-II/A

By selling an article if the loss is 12%,
then what will be the ratio of cost price
and selling price?

(A) 20 : 19
B) 25 : 22
(C) 17 : 15
(D) None of the above

If a sum becomes four times in 15 years,
then what will be the rate of simple
interest per annum?

A) 21%
(B) 19%
(C) 25%

(D) None of the above

For the given figure, find the values of
x and y, where x - y=40°:

P

Q

o X
A 20 B

(A) 90°, 70°
(B) 110°, 50°
(C) 100°, 60°
(D) None of the above

If the lengths of three sides of a triangle
are 6 cm, 8 cm and 10 cm, then the
radius of the circumcircle of the triangle
is

(A) 5 cm

(B) 6 cm

(C) 7 cm

(D) None of the above

The ratio of length and breadth of a
rectangle is 4 : 5. If the perimeter of the
rectangle is 18 cm, then the length of its
one diagonal is

(A) V40 cm

(B) V41 cm

(C) 7 cm

(D) None of the above

25

106.

107.

108.

109.

110.

FRESHERS NOW

I T e e 12% e 20 T @
AT Sire 57 2

(A) 20 : 19

(B) 25 : 22

(C) 17 : 15
(

D) TUEd (@2 o

WPICE 15 924 B 8 24 2
A) 21%

B) 19%

Q) 25%

D) Td (@02 o/

are forad &0 x @R y-9F T4 [ 39,
@A x — y=40° :

(
(
(
(

P
0
o y x
A 20 B
0]

(A) 90°, 70°
(B) 110°, 50°
(C) 100°, 60°
(D) TCs (TGS T

¢ fagrem foafs am o 6 @1 M,
8 oL f. @ 10 o1 f. 1 fagsba ey
39 7

A) 5 . fi
B) 6 1. f.
c) 7 & fi.
D) U@ @b T

GH(b STRISCHCAR Creff € ATE ST 4 @ 5
ISR AAN 18 ¢1. f. 7 ©| G
el ) F© 2F?

(A) V40 @1 .

(B) V41 @1. f.

©) 7 . f.

(D) To[ER (@02 T

(
(B
(€
(

[ P.T.O.
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111.

112.

113.

114.

115.

RL19/APR-II/A

If the two adjacent angles of a
parallelogram are equal, then the value of
each angle is

(A) 80°
(B) 70°
(C) 60°
(D) None of the above

The area of a rhombus is 280 sq. cm and
length of one diagonal is 14 cm. What is
the length of the other diagonal?

(A) 35 cm
(B) 30 cm
(C) 40 cm
(D) None of the above

The area of a circle is 616 sq. cm. What
will be the diameter of the circle?

(A) 28 cm
(B) 14 cm
(C) 21 cm
(D) None of the above

The average age of 5 men is 45 years
while the average age of another 4 men
is 36 years. The mean age of all these
9 men will be equal to

(A) 40 years
(B) 41 years
(C) 39 years
(D) None of the above

If a certain set of observations has mean
22-5 and median 20, then what will be
the mode of that set of observations?

A) 12
(B) 14
(C) 16

(D) None of the above

26
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¢35 TR ke @ 1 R W
oee 2felb (IR T F© 2

(A) 80°
(B) 70°
(C) 60°
(D) T @Fbe T

G35 T90T™ Fara 280 39 1. WM. R T™
G35 Feefa o 14 @1 .| e effoa o
O 3T ?

(A) 35 1. fil.
(B) 30 @i. fi.
(C) 40 ¢1. f.
(D) TolER @02 T

«f5 Jcea CFawa 616 of ¢ . | Fefs
PR e F© 232
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116.

117.

118.

119.

120.

The height of an equilateral triangle is
53 cm. Find the area of the triangle.

(A) 25V3 sq. cm
(B) 15V3 sq. cm
(C) 10V3 sq. cm

(D) None of the above

The nature of Mathematics is
(A) ornamental

(B) difficult

(C) logical

(D) None of the above

Who said that

science which
conclusions”?

“Mathematics is the
draws necessary

(A) Hogben
(B) Benjamin Peirce
(C) Locke

(D) None of them

Which of the following is not the
characteristic of a successful teacher?

(A) Partial behaviour
(B) Dedication
(C) Practicability

(D) None of the above

Who deduced

x_—bi\/b2 -4ac
2a
ax? +bx+c=0 (a= Q)

the solution

for the equation

(A) Shripati

(B) Bhaskar

(C) Ramanujan

(D) None of them
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121.

122.

123.

124.

125.

Which one is correct about the following
statements?

Adulteration takes place generally
more in loosely sold items than those
sold packed.

Powder and paste forms are generally
more adulterated than solid lumps.

Only (I) is true
Both (I) and (II) are true
Both (I) and (II) are false

Only (II) is true

Which of the following does not match?
(A) Vitamin A—Night blindness

(B) Vitamin B;—Pellagra

(C) Vitamin D—Deformities in bone

(D) Vitamin K—No blood coagulation

Penicillin was discovered from
(A) fungi

(B) bacteria

(C) virus

(D) algae

Biotechnologically  insulin be

produced by

can

(A) bacteria only
(B) cow only
(C) both bacteria and cow

(D) both bacteriophage and bacteria

The xylem in plants is responsible for
transport of

(A) water
(B) food
(C) amino acids

(D) All of the above
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126. Which of the following constitute a food | 126. A @0 AMBE 510 I ?

chain?
(A) ™, o9 @R ¥
(A) Grass, wheat and mango
(B) @11, =TT GR @
(B) Grass, goat and human

(C) 1™, AR @R R[aleT
(C) Grass, fish and goat ’ )

D) M1, 29 @) 2Sl
(D) Grass, deer and elephant (D) ’ )
127. IWO(FT BF]

127. The importance of ecosystem lies in @ =

(A) *fe= 2@
(B) *MIc¥q b #AfDIeCe

(A) flow of energy

(B) cycling of materials

(C) Both of the above (C) e Z%?i

(D) None of the above (D) TR (@R

128. Which of the following is also known as 128. (G GTAIN ©ES e ?
golden fibre?

A) Pre
(A) Silk
(B) =1fPT a1 3
(B) Cotton -
©)
(C) Jute
(D) T#I7a @Ffe

(D) None of the above

129. [ (99 e IR
129. Agar oil is found from
(A) FRFO HOR-TS (A
(A) infected agar-leaves

(B) SToR-T3 (T

(B) agar-roots

C) RS TH-F0 (ACF
(C) infected agar-wood (€

D g-
(D) agar-leaves (D) S=marg-=mel (ACF

130. faRIIescR SO <
130. Which of the following is the best TR T 2 T et e

indicator of SO, pollution? PG 2

(A) Bryophyte (A) m
(B) Pteridophyte (B) bfcurean
(C) Algae (C) Co=TeT

(D) Lichen (D) G
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131.

132.

133.

134.

135.

RL19/APR-II/A

Cement factory labourers are prone to
(A) leukemia

(B) bone marrow disease

(C) asbestosis

(D) cytosilicosis

Which of the following is also known as
law of inertia’?

(A) Newton’s first law

(B) Newton’s second law

(C) Pascal’s first law

(D) Pascal’s second law

Which of the following is not a unit of
pressure?

(A) pascal
(B) mm Hg
(C) torr

(D) newton

It is hotter at the same distance over the
top of a fire than it is on the side of it,
mainly because

(A) heat is radiated upwards
(B) air condenses heat upwards
(C) convection takes more heat upwards

(D) conduction, convection and radiation

all contribute significantly in trans-
ferring heat upwards

To hear a distinct echo each, the
minimum time interval between the
original sound and reflected sound must
be

(A) 1 sec
(B) O-1 sec
(C) 2 sec
(D) 0-2 sec
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136.

137.

138.

139.

140.

The positive pole of the dry cell is made
up of

(A) Zn
(C) Fe

(B) C
(D) Al

Choose the wrong statement.

(A) A concave mirror can form a
magnified real image.

(B) A concave mirror can form a
magnified virtual image.

(C) A convex mirror can form a
diminished virtual image.

(D) A convex mirror can form a

diminished real image.

A parallel beam of light is incident on a
glass item behind the curtain ABCD. The
emergent rays coming out from the item
are as given in the following figure. Which
item could be behind the curtain?

A D
1—
2—>
3—>
4—>
5 —>

B o

=N WPk U

(A) Concave lens

(B) Convex lens

(C) Rectangular glass slab

(D) Prism

Which of the following planets has (have)
ring around it (them)?

(A) Jupiter

(B) Uranus

(C) Both Jupiter and Uranus

(D) None of the above

The largest satellite orbits around the
planet . (Fill up the blank)

(A) Jupiter
(B) Uranus
(C) Neptune
(D) Saturn

RL19/APR-II/A
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141.

142,

143.

144.

145.

A change of state from one form to other
is a

(A) biological change

(B) chemical change

(C) physical change

(D) None of the above

An element reacts with water to produce
hydrogen. The element may be

(A) very active metal
(B) very active non-metal
(C) heavy metal

(D) liquid non-metal

Which of the following properties is
generally not shown by metals?

(A) Electrical conduction

(B) Sonorous in nature

(C) Dullness

(D) Malleability

Which of the following statements are
correct about an aqueous solution of an
acid and a base?

(I)
(I) Higher the pH, weaker is the acid.

Higher the pH, stronger is the acid.

(IIT) Lower the pH, stronger is the base.
(IV) Lower the pH, weaker is the base.
(A) (I) and (III)

(B) (II) and (III)

(C) () and (IV)

(D) (II) and (IV)

Which of the following gives the correct
order of acid strength?

(A) Water < Acetic acid < Sulphuric acid
(B) Water < Sulphuric acid < Acetic acid
(C) Acetic acid < Water < Sulphuric acid
(D) Sulphuric acid < Acetic acid < Water

RL19/APR-II/A
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146.

147.

148.

149.

150.

Science refers to
(A)
(B)
(¢
(D)

a system of acquiring knowledge
a system of natural phenomenon
a system of physical evidence

a system of experimentation

A scientifically acceptable general
principle formulated to explain a
phenomenon based on experimental
evidence is called

(A) hypothesis
(B) theory
(C) proof

(D) evidence

The history of science is the study of the
development of science and scientific
knowledge including

(A) natural sciences
(B) social sciences
(C) Both (A) and (B)
(D) None of the above

The teaching of science may be done by
(A) inquiry approach

(B) hands-on approach

(C) ICT approach

(D) All of the above

Which of the following are major
problems of teaching at upper primary
level in India?

(I) Unavailability of new

resources

teaching

(II) Students unable to understand

concepts of science because of their
uninterested attitudes

(III) Properly skilled teachers are few in
number

(A) (I) and (1)

(B) (II) and (III)
(C) (I) and (III)

(D) (1), (II) and (III)
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Candidates have to answer Question Nos. 91
to 150 Either from Part—V (Mathematics and

Science) Or from Part—VI (Social Studies).

AIFIACE 2 A 91 (AE 150 T&F FACS 2(d
7 oo—V (e @R @) (A weRd Se—VI
(TISR) (e |

PART—VI / ©9—VI
SOCIAL STUDIES | JNI&<w!

Directions : Answer the following questions by

selecting the correct option.

91. The rings of Saturn are made up of

(A) satellites
(B) hydrogen and helium
(C) small ice and rock particles

(D) None of the above

92. The time difference of 1° longitude is

(A) 4 seconds
(B) 4 minutes
(C) 4 hours

(D) None of the above
93. The density of core of the Earth is
(A) 35 g/cm?
(B) 55 g/om3
(C) 111 g/cm?®

(D) None of the above

94. Quartzite is formed from
(A) basalt
(B) gneiss

(C) mudstone

(D) None of the above
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95.

96.

97.

98.

99.

100.

Terra rossa soil is obtained in
(A) Savanna region

(B) Limestone region

(C) Taiga region

(D) None of the above

The velocity of wind is measured by
(A) barometer
(B) hygrometer
(C) wind vane

(D) None of the above

California Current is formed in the
(A) Pacific Ocean

(B) Atlantic Ocean

(C) Arctic Ocean

(D) None of the above

Equatorial low pressure belt is extended
from

(A) 10° N-10° S
(B) 0°-5° N

(C) 5° N-5° S

(D) None of the above

The Cold Desert of India is located in
(A) Shimla

(B) Srinagar

(C) Ladakh

(D) None of the above

Fossil is found in

(A) hypabyssal rock
(B) metamorphic rock
(C) sedimentary rock

(D) None of the above
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101. ‘Siderite’is included in the mineral ore of
(A) nickel
(B) bauxite
(C) iron

(D) None of the above

102. Ontario and Quebec are famous for
(A) paper industry
(B) cotton textile industry
(C) iron and steel industry

(D) None of the above

103. _ is called the Fruit Basket of India.
(A) Jammu and Kashmir
(B) Kerala
(C) Himachal Pradesh

(D) None of the above

104. The rain shadow region of Western Ghats
is

(A) flood prone
(B) earthquake prone
(C) drought prone

(D) None of the above

105. Alluvial soil is a
(A) transported soil
(B) saline soil
(C) calcareous soil

(D) None of the above
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107.

108.

1009.

110.
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The great granary was discovered in

which Indus Valley site?
(A) Lothal

(B) Chen-hu-daro

(C) Harappa

(D) None of the above

Which civilization was developed on the
banks of Tigris-Euphrates rivers?

(A) Chinese Civilization
(B) Mesopotamian Civilization
(C) Inka Civilization

(D) None of the above

Which of the following Mahajanapadas
was a republic?

(A) Avanti
(B) Kosal
(C) Magadh

(D) None of the above

Which
‘Devanampiya Piyadasi’?

Indian king was known as

(A) Bimbisar
(B) Bindusar
(C) Ashoka

(D) None of them

The shore temples at Mahabalipuram
was built during the reign of which
dynasty?

(A) Pallavas
(B) Cholas
(C) Pandyas

(D) None of the above
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112.

113.

114.

115.
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Which Indian king fought against
Muhammad Ghori at Tarain in 1191 AD?

(A) Jaichand
(B) Prithviraj Chauhan
(C) Dharmapal

(D) None of them

Who among the following sent an

invasion to South India?
(A) Muhammad Ghori
(B) Iltutmish

(C) Alauddin Khilji

(D) None of them

The Dargah of which Sufi
situated in Ajmer?

saint is

(A) Moinuddin Chisti
(B) Baba Farid
(C) Chirag

(D) None of them

Which of the following employees did not
belong to Akbar’s revenue department?

(A) Kanungo
(B) Poddar
(C) Bhuian

(D) None of them

To whom did the Mughal emperor make
the ‘Grant of Diwani’ in 1765?

(A) Mir Qasim
(B) Robert Clive
(C) Jagat Seth

(D) None of them
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116.

117.

118.

1109.

120.

Why did Gandhiji start the Champaran
Satyagraha?

(A) To increase the wages of the textile
mill workers

(B) To reduce the taxes given by the
farmers

(C) To protest against British
exploitation of the Indigo farmers

(D) None of the above

Which movement began with the ‘Dandi
March’?

(A) Non-Cooperation
(B) Civil Disobedience
(C) Quit India

(D) None of the above

Who named Andaman-Nicobar islands as
Sahid-Swaraj islands?

(A) Gandhiji
(B) Subhas Chandra Bose
(C) Vallabhbhai Patel

(D) None of them

What are Hiknanani and Kaizagnani in
the tribal society?

(A) Marriage customs
(B) Customs related to newly born
(C) Worshipping Gods of crops

(D) None of the above

Tirthamukh in Amarpur is famous for
(A) Pous Sankranti Mela

(B) Garia Puja

(C) Mai-luma Worship

(D) None of the above
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“In the Varna model, there is no doubt
whatever as to place occupied by each
caste category.” Who said this?

(A) Ram Ahuja
(B) M. N. Srinivas
(C) R. H. Hilton

(D) None of them

Who wrote the book, Indian Social

System?

(A) Ramesh Thapar
(B) Ram Ahuja

(C) N. K. Basu

(D) None of them

The term ‘Justice’ is derived from a
(A) Latin word

(B) Greek word

(C) German word

(D) None of the above

“To my mind, a secular State is neither a
Godless State, nor a irreligious State, nor
an antireligious State.” Who said this?

(A) M. N. Srinivas
(B) Giddings
(C) H. V. Kamath

(D) None of them

The head of the State
Parliamentary system of Government

under

enjoys
(A) absolute power

(B) real power

(C) nominal power

(D) None of the above
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Which century is regarded as the century
of Human Rights?

(A) 19th century
(B) 20th century
(C) 21st century

(D) None of the above

Article 1 of the Indian Constitution
describes India as a

(A) Confederation
(B) Federation
(C) Union of States

(D) None of the above

As a member of the Lok Sabha, the
minimum age required to become the
Prime Minister of India is

(A) 25 years
(B) 30 years
(C) 35 years

(D) None of the above

Which Part of the Indian Constitution
deals with citizenship?

(A) Part I
(B) Part II
(C) Part III

(D) None of the above

Which one of the following Articles deals
with the appointment of the Governor of
a State in India?

(A) Article 125
(B) Article 135
(C) Article 155

(D) None of the above
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The Indian Constitution borrowed the
idea of Directive Principles of State Policy
from the Constitution of

(A) Ireland
(B) Switzerland
(C) Canada

(D) None of the above

Which Part of the Constitution of India
deals with the Election and Election
Commission?

(A) Part V
(B) Part X
(C) Part XV

(D) None of the above

In Greek language, the word Demos’
means

(A) people
(B) mob
(C) elite

(D) None of the above

When was ‘The Tripura Municipal Act’
enacted?

(A) In 1989
(B) In 1992
(C) In 1994

(D) None of the above

How many members can be nominated
by the Governor of the State in TTAADC?

(A) Two
(B) Three
(C) Four

(D) None of the above

RL19/APR-II/A
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O/

136. Who is considered as the Father of Social | 136. F1tF ANEs MRS 2@ I =2

Constructivism?

(A) Vygotsky (A) @Qﬁ@

(B) Piaget (B) forice

(C) Bruner (C) FFT=

(D) None of them (D) 4T (FTB

137. The most appropriate purpose of learning | 137. e 51 T 2
is
(A) NI FCooToF R

(A) development of social awareness
(B) IfecE FHEaICed TAEEN ¢ (Ol
(B) preparing oneself for employment
(C) SIBACR IR i

(D) a7 @i T

(C) modification of behaviour

(D) None of the above

138. Taxonomy of educational objectives is 138. PR Towc T e e 20
developed by (A) 3. <. QefTizs
(A) E. L. Thorndike (B) SESM “o5Te
(C) 3. . (TfeA

(D) €& (&2 o

(B) Ivan Pavlov
(C) I. K. Devies

(D) None of them
139. frweeR Tife =

139. Maxim of teaching is/are

(A) particular to geneal (A) ReE e MaEa

(B) direct to indirect (B) 4O (AP ICATH
(C) Both (A) and (B) ©) (A) ¢ (B) T=E
(D) None of the above (D) TYEA (@R

140. Which of the following subjects come 140. f5q WW@%WW@W”

under Social Studies?

(A) History, Geography (A) 2fe2pt, peore

(B) Civics, Economics (B) ¢Tafqwm, wigfifs
(C) Both (A) and (B) (C) (A) @ (B) Tex?
(D) None of the above (D) T @R
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Which of the following statements is not
correct?

(A) Lecture method is one-way process.

(B) Lecture
reasoning.

method can develop

(C) In Lecture method, students are

passive.

None of the above

An effective teacher is one who can
(A) give more information in less time
(B) motivate students to learn

(C) control the class

(D) None of the above

Which one of the following is most

effective element for making class

teaching interesting?
(A) Teaching method
(B) Lesson plan

(C) Textbook

(D) None of the above

The reliable and valid examination is the
(A) objective-type examination

(B) essay-type examination

(C) oral examination

(D) None of the above

Highly subjective examination is the
(A) essay-type examination

(B) oral examination

(C) objective-type examination

(D) None of the above
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In formative evaluation

(A) the examination is held after the end
of academic session

(B) the learners are evaluated through
external examination

(C) Both (A) and (B)

(D) None of the above
Formal operational stage of cognitive
development in

correspond to which stage of education in
India?

Piaget’s view will

(A) Pre-primary education
(B) Secondary education
(C) Higher education

(D) None of the above

Which of the following is not a basis of
curriculum construction?

(A) Educational basis
(B) Sociological basis
(C) Cultural basis

(D) None of the above

The concept of ‘zone

development’ is given by

of proximal

(A) Piaget
(B) Woodworth
(C) Bruner

(D) None of them

Kohlberg’s theory is based on
(A) physical development

(B) cognitive development

(C) social development

(D) None of the above
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1. Out of the four alternatives for each question, only 1. 2fSH 20w Teg o @ vl [ee rea =iz o1 (4
one circle for.the correct answer is to be darkened R PRI Tealta e OMR Teaica oredl Q@%
completely with Black Ballpoint Pen on the OMR . ofer e
Answer Sheet. The answer once marked is not SRS AL STAAC PICT T IS PR
liable to be changed. 2@ | [ Ted ofers T 20 (9IE OIF oF AR
2. The candidates should ensure that the OMR RRRICECIN
Answer Sheet is not folded. Do not make any stray o, SId% OMR TeTeiEl S/ -
marks on the OMR Answer Sheet. Do not write o ) 4 N
your Roll No. anywhere else except at the specified OMR 3"@@ CICIF WIS <BIB1 <1 Ty (o741 A 1 |
space on the OMR Answer Sheet. #RAPFR IR (F1e1 99 OMR Tea#[cq e Sen 2ol
3. Handle the Question Booklet and OMR Answer S (G SREE fericae o |
Sheet with utmost care, as under no
circumstances (except technical defect), another 8. OMR U&7 G 2PI7CAq 20C I POl BeT3
set of Question Booklet and OMR Answer Sheet IS A | (A TRECeR (YU @ ¢ rfere @i
will be provided. ZT!) OMR TG9[q 8 2¥o[q “fqés F41 T 1 |
4. The candidates will write the correct Question S f N o < .
Booklet Number and OMR Answer Sheet Number 4. " ~4 I OMR PeI7AT 73T 4R
in the Attendance Sheet. 2P7ICaq w13 ?\lgﬂw @ fordee 27 |
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material, printed or written, bits of papers, pager, 1 1 T, W@{E{ © ST, 7T,
mobile phone, electronic devices or any other
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Hall/Room without handing over their OMR y
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12. No part of the Question Booklet and OMR Answer 12. Cw ¢ ZIC02 A1 G OMR TEICAT (PICAT =
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13. On completion of the test, the Candidate. ~rnus‘c 13. “3rF o 28T 7 2[RI SE BT OMR T€d9d
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